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Full�dio Problhm�twn 5

Polu¸numa kìmbwn.

'Askhsh 5.1 Show that the reflection of the trefoil, T , has bracket polynomial

〈T 〉 = A−7 − A−3 − A5 .

DeÐxte oti o antikatoptrismìc tou trifullioÔ, T , èqei polu¸numo bracket

〈T 〉 = A−7 − A−3 − A5 .

'Askhsh 5.2 Show that move R1′, changes the bracket polynomial by a factor −A−3,
as in Figure 1

DeÐxte oti h kÐnhsh R1′, all�zei to polu¸numo bracket kat� èna par�gonta −A−3,
dhlad  ìpwc sto Sq ma 1

Sq ma 1: H metabol  sto polu¸numo 〈D〉 apì kin seic R1′.

'Askhsh 5.3 If H is the Hopf link, T is the trefoil and E the figure eight knot, show
that

〈E〉 = A〈T 〉 − A−4〈H〉 .

E�n H eÐnai o sÔndesmoc Hopf, T to trifÔlli kai E to oqt�ri, deÐxte oti

〈E〉 = A〈T 〉 − A−4〈H〉 .



'Askhsh 5.4 Compute the bracket polynomial of the figure eight knot E and of its
reflection E.
Comparewith the last question of Problem 4.5.

UpologÐste to polu¸numo bracket tou oqtarioÔ E kai tou antikatoptrismoÔ tou, E.
SugkrÐnete me thn teleutaÐa er¸thsh thc 'Askhshc 4.5.

'Askhsh 5.5 Compute the Kauffman polynomial of the figure eight knot.

UpologÐste to polu¸numo Kauffman gia to oqt�ri.

'Askhsh 5.6 Compute the Kauffman polynomial of the Borromean link

UpologÐste to polu¸numo Kauffman gia to sÔndesmo Borromeo.

'Askhsh 5.7 Compute the Kauffman polynomial of the two simple knots with 5 cros-
sings.

UpologÐste to polu¸numo Kauffman gia touc dÔo aploÔc kìmbouc me 5 diastaur¸seic.

'Askhsh 5.8 Show that if K is an oriented knot, and rK is the knot with the reverse
orientation, then f [K] = f [rK].

DeÐxte oti e�n K eÐnai prosanatolismènoc kìmboc, kai rK eÐnai o kìmboc me ton antijeto
prosanatolismì, tìte f [K] = f [rK].

'Askhsh 5.9 Show that if we consider the oriented diagrams that differ only at one
crossing, the Jones polynomial satisfies the following relation:

t−1V+(t)− tV−(t) = (t1/2 − t−1/2)V0(t) .

DeÐxte oti e�n jewr soume ta prosanatolismèna diagr�mmata pou diafèroun se mÐa mìno
diastaÔrwsh, to polu¸numo Jones ikanopoieÐ th sqèsh:

t−1V+(t)− tV−(t) = (t1/2 − t−1/2)V0(t) .
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